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- eags. How many whole cake
1 Achefis preparing some cakes. Each cake needs seven 8ggs. T y who'e Cakes can be
with 144 eggs?
A 19 B 20 C 21 O 7 E 1008
2 67890 The digit 8 in this number has a value of 800. Whatis the value of the GigR R
A 70000 B C 700 D 67000 E 7000
3 This scalene triangle has angles ¢. r and s marked
i “ale ris 49° and angle s is 37
i What is the size of angle 7 :
: A 266 B 86 C 28g°
L D 270 E 49
% ; _ - i :
| 4 Devis drawing a plan of his garden. He is using a scale of 2cm to Sm. The driveway is 12.5m longs
{ How long should he draw the driveway on his plan?
{ A 125m B 2cm C 5com D 25cm E 52cm
S  Which answer has a different value to the others?
A Z£of100 B 75%0f100 C 30f100 D 00750100 E Zof100

6 A school emails a letter to the parents/guardians of all 780 pupils in the schoal.
85% of the parents/guardians have replied in the first week.
What number have not replied in the first week?

A 673 B 117 C 850 D 127 E 663

L eila has been collecting football stickers for two years. Some cost her 10p and others cost
her 5p. She has bought 56 of the more expensive stickers and 75 of the cheaper stickers.
: i total amount she has spent?

B £935

C £10.30

D £9.45 E £375

spent twice as long on the Internet on Tuesday as he did on Wednesday. He then sper
long on Thursday as he did on Wednesday. On Friday he spent two hours longar 18
ay. If he spent eight hours on the Internet on Friday, how long did he spend on”

B 2hours C 6hours D 3 hours 20 mins

s club started in 2012 with 23 pupils. In 2013 there were twice as many
were twice as many as in 2013. How many pupils were in the maths club
B8 23 C 92 D 48 E

What is the area of triangle DEF?
A 1232cm? B 1896cm?
D 30cm? E 18cm?




11 What is the missing number? 104 | 98 | 92
A 116 B 104 C 92 110 | 104 | 98
D 96 E 98 ‘
? 1110|104
12  The pie chart shows proportions of number
of doors on cars in a car park.
There are 60 cars in the car park.
How many cars have three doors?
A 18 B Rs G 9 E 6
13 A tablet case holds 28 tablet computers. How many tablet cases are needed to hold 532 tablets?
A 17 B 18 Cc 19 D 20 E 21
14 Agiant stick of rock 2m 8 cm long is cut into two equal pieces. How big is each piece?
A 1m40cm B 14cm C 14m D 2m4cm E 104cm
| 15 Each of the white and grey tiles measures 25c¢m X 25cm.
g What is the total area covered by the white tiles, in square metres?
o A 05m? B 15m? C 25m?
L D 35m? E 45m?
1‘- _1
- | 16 Aroulette wheel has all the numbers from 0 to
36 equally spaced around the edge.
: O T B e a5 26
‘ There is an equally likely chance of landing on any
LJ of these numbers. What is the chance of not
" landing on an odd number?
A 32 B & G ¥
17 Which number is divisible by 6 and 127
A 18 B 24 C 30 D 42 E 54

[

‘ c D
is the net of a closed cube.




19 This machine doubles and then subtracts 7.
? e L 99
Which number has been put in?
A 46 B 92 C 107 D 583 E 635
20 Morag delivers papers seven days a week. She earns £x each weekday, and twice each weekday
amount for each weekend day. How much does she earn for the whole week?
A £85% B £7x C £9x D £1ix E £14x
21 1 e 9 is the beginning of the sequence of square numpers.
The difference between the first pair of square numbersis 4 — 1 =3 difference = 3
The difference between the second pair of square numbers is 9 — 4 =5 difference = 5
Continue the sequence and find which is the first difference between a pair of square
numbers that is not a prime number.
A 7 B 8 G D 10 E 11
e 22 N Write the coordinates of the Petrol Station.
5 I (‘olnéuter Shop A (2 ,45)
S Départment Store o=
o 7 * | B (25,45
a l
-. 3 C (45, 25)
- .. = Pgtr ol Stthion D (2
. Supermarket
- A E (45,2
0 >
@2 3 04 5 %
23 A skiing holiday costs £780 for each adult. There is a reduction of £150 for each child.
How much would it cost for Angus, his older sister who is nine years old, his mum and dad
and his granny to go on holiday?
A £3600 B £2900 C £2750 D £3100 - E £2450
24 | ook at these clouds of numbers.

A B © D E

In which cloud are all the numbers multiples of either 4 or 5?

This bar chart shows the marks in a geography test. How many children scored fewer than 20 marks?
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26  Which number which has the smallest value
A 503 '
B 405 C 510 D 499
7 The subscripti ioi ‘ 5
2 pton to join the ‘Draw and Paint’ evening class is £30.
Plus:  £2.50 admin charge
£1.10 for HB pencils
£3.50 for pastels
£4.75 for brushes
£2.15 for water colours
£1.65 for paper.
What is the total cost?
A £46.55
B £45.65 C £16.65 D £46.60 E £30
28  Hereis the plan of a room. What is the perimeter of the room?
A 37.5m
5m 2m
B 365m T
C 245m e
D 32m i
E 37m
1m NOT TO
5m | SCALE LLm_
29 The original price of this book was £12.60.
SALE ! In the sale, it is on offer with ‘A quarter off'.
A quarter off How much change will you get from £10?
original price
A £3.15 B £2.50 C 45p B &5p ESRC)
30 Westward Travel has reduced the price of holidays by 30% this week. The original price of the
holiday | want to book was £540. How much will this holiday cost this week? .
A £378 B £510 C £270 D £162 E £362
31 You roll a fair dice numbered 1 to 6. In which of these are both statements true?

A You have an even chance of rolling an odd number.
You are certain to roll a number less than six.

B You have a greater than even chance of rolling a prime number.
You are certain to roll a number less than seven.

C You have an even chance of rolling an odd number.
You are certain to roll a number less than seven.

D You have a greater than even chance of rolling a prime number.
You are certain to roll a number less than six.

E You have a greater than even chance of rolling a prime number.
You have an even chance of rolling an odd number.

Please turn over

5




52 When point T is added to the diagram,

QRST is a parallelogram.
What are the coordinates of the point T?

A (4, 4) B (1,4)
C (4 -2 D (7,4)
E (6 4)

33 Here is part of a conversion taple for pounds (Ib) to kilograms (kg) and kilograms to pounds.

Example: 5 pounds = 2.27 kg

pounds tokg kg to pounds i
5 2.27kg 11.021b |
6 2.72kg ?
% 3.18kg 156.431b }
8 3.63 kg 17.641b |

Which figure is missing from the table?
A 11.441b B 12.03lb C 13.10lb D 14.44lb E 13.23Ib

34 Tarig collected the following data during a survey of his year group. |

| |
T ! Favourite musical instrument
e Drum Recorder Guitar ‘j
] Boys 31 ? 11
:;'. ,;\ Girls 13 19 18

One hundred and ten pupils completed the survey. How many boys gave recorder as their favourite
instrument?

A 29 B 99 C 39 D 18 E 21

A B C D E
One interior angle on each polygon has been marked.
Example: The interior angle of a square is 90°.
Which of the regular polygons above has the largest interior angle?

If: 5x + 9 = 54 — 4x what is x?
A 5 B 9 C 63 D 45 E 8

There are 520 pupils at Sportmg School. 433 take part in events at the annual sports day.
 How many pupils do not take part in the events?
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39 Your task is to guide the robot along the white Q‘J l
squares on the plan.
It starts on the square marked START and E".' |
finishes on the square marked FINISH. F <
It can only move FORWARD, TURN RIGHT 90° }'
and TURN LEFT 90°, : ? A
Which are the correct instructions? ‘?*‘,
o
F g
A FORWARD 6, TURN LEFT 90°, FORWARD 4, TURN LEFT 90°, FORWARD 2.
TURN RIGHT 90°, FORWARD 3
B FORWARD 6, TURN RIGHT 90°, FORWARD 5, TURN RIGHT 90°, FORWARD 2,
TURN LEFT 90°, FORWARD 2
C FORWARD 5, TURN RIGHT 90°, FORWARD 4, TURN LEFT 90°, FORWARD 2,
TURN LEFT 90°, FORWARD 2
D FORWARD 6,} TUHN LEFT 90°, FORWARD 5, TURN RIGHT 90°, FORWARD 2,
TURN LEFT 90°, FORWARDQ
E FORWARD 6, TURN LEFT 90°, FQRWARD 4 TURN LEFT 90°, FORWARD 2,
TURN RIGHT 90°, FORWARD 2
e = ~,TT:~ T,fl{;,?; ————
a0 These are the wages of sevaﬁvggqgja in aucempany
£1100 £1140 @rﬂ@_
What is the median we
A EilS38
41 Heather thinks that |
Heather asks her
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43 Grace buys two computer games on holiday for €32 and €28. She calculates that one game
costs £20 and the other costs £17.50. How much would a €4 adapter cost if her calculations
are correct?

A £2.00 B £250 C £3.50 D £4.00 E £450
a4 You start with a number. You multiply it by itself. Then multiply this number by the start number,
The new number is 125. What is the value of the start number?
A 10 B 8 C 6 D 4 E 6
45 =100 The shaded corners are cut out of this flat shape.
It is then folded to make an open box.
4cm T What is the capacity of the box?
Gcm A 240cm?
B 120cm?®
C 260cm?
D 160cm?
E 220cm®

46 Deepak’s street has 34 semi-detached houses and 16 detached houses. What fraction of the houses
on the street are semi-detached?

AL B & S D % E 3

47 If you reflect this right-angled triangle in its
dashed side you will make a quadrilateral. L Tl

Aol What is the name of this quadrilateral? . e
. A square B rectangle C rhombus D parallelogram E kite
-
- | 48 The arrow shows how much the person weighs.
Iﬂr-. . The person is wearing a coat, which weighs 800g.
_‘ If they take it off and place it on the table, what
] would the new weight be?
L 'I"
.
A 30.2kg B 31.2kg C 29.2kg D 29.6kg E 29.8kg
| 49 5p—7g+3r=1
itp =79 =4, r=29, whatis the value of t?
A 20 B 90 C 36 D 24 E 34
50 Which of these words does not have a vertical line of symmetry?

A WOW B TOT C SOS D MUM E AXA

e} |




